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3
SinA = 1 A o, cosA + tanA 9] g9
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3.  sin0° X cos 60° 4 cos 0° X tan 45° — sin 45° X tan 60° =7
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ohg 49] ghe?

sin? 30° + sin® 60 ° — tan 30 ° X tan 60 °
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5.  cos60° x tan 60° + sin 60° = Al4FSIH?
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sin 30°
cos30°
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sin 30 ° X cos 60 °
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11. sin(90°-A) = 3 A off, tan A O] F2? (T, 0° <A <90°)
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4
tanA = 3 A ff, cosA +sinA &) 27 (T, 0° <A <90°)
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tanA =1%o, (2+sinA)(2-cosA)
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18. ©-& 193} 2ol /B = 60°, /C = 45° 1 AABC 9|4 AHLBC °]1,
AB =8cm ¥ ufj, AC 2] Zo]=?
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23. sinA=- <, tanA —cos A 9] F2? (F, 0°<A<90°)
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24.

tan A = 0.5 & T, sin A + cos A 2] Z27(H, 0° <A <90°)



25. TS % tanA — %01 o), sin A — cos A ] ZE(F, 0° < A < 90°)



0° <A <45° \/(sinA —cosA)’+ \/(cosA —sinA)? & 75
Sh?

@D sinA @ 2sinA
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27.

0° < x < 45° 4 of,
SHH?

@ sinx

@ 2cosx

V1 +2sinxcosx — V1 —2sinxcosx & 7+t

@ 2sinx @ cosx
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28. /(cosA-1)2- \/(1+cosA)? 9] 27 (T, 0° <A <90°)
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20. Thg EE o]-85}e]
(tan44° + cos 46 ° — 2sin 45 °) x 10000 2] g o=t

Zte sin cos tan

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0,7193 0.6947 1,0355

D 246 ® 967 3 1760 @ 92462 ® 3240



30. o5 ®E °]83t
(cos 55 ° + sin 56 ° — tan 54 °) x 10000 ] FtS -otof=t.

Zte sin cos tan

54° 0.8090 0.5878 1.3764
55° 0.8192 0.5736 1.4281
56° 0,8290 0.5592 1,4826

A 26 ® 97 A 170 @ 262 B 324
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ZI e sin cos tan
10° 0,1736 0,9848 0,1763
20° 0.3420 | 0,9397 0.3640
35° 0.5736 | 0.8192 0.7002
45° 0,7071 0,7071 1,0000
50° 0,7660 | 0,6428 1,1918
70° 0.9397 | 0.3420 2.7475
89° 0.9998 | 0.0175 57.2900

sinx = 0.5736

cosy = 0.9397

tanz = 2.7475
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